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- -8 = -14 = +14
(-)+(+8) 18 (~9)+(-6) G (110) = (+2)
= -1 = -15 = +5
(-7)+(+5) 19 (+48) = (-8) ¥ (-+(-5)
= -2 = -é = -7
(-4)+(+5) @O o) = (-8) O (DX (-4
S - -8 = -28
(+4)+(-9) CU 1)+ (+8) P (+18) = (-6)
= -5 = -9 = -3
(20) = (-4) @ (-6)+(+9) G8 (+56) = (+8)
= +5 S = 47
(+8)-(-2) @D (-7 X (+5) B9 (-3) x (-8)
= +10 = -35 = +24
(+5)+(-3) @O (o) = (-4) U9 (~4) X (+3)
= 4 = +6 - -18

(+7) X (+6) @9 (_5)-(-8) -8y = (-2)
= 442 = 43 = +4
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- +18 =+ = +8
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= -9 = -7 = -15
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(+6)+(-5) BV (36) = (-4) 4P (DX (-3)
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(-2)+(+9) G2 (9= (-8) P (+4)-(-5)

= +7 = - = +11
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